

MATRIX TRANSFORMATIONS OF $c_0(p)$, $l^\infty(p)$, l^p AND l INTO λ

S. M. SIRAJUDEEN

Department of Applied Mathematics, Madras University P. G. Centre,
Coimbatore 641041

(Received 6 August 1980; after revision 27 January 1981)

Necessary and sufficient conditions have been established for an infinite matrix $A = (a_{nk})$ to transform $c_0(p)$, $l^\infty(p)$, l^p and l into λ where $c_0(p)$ and $l^\infty(p)$ are sequence spaces of Maddox (1967) and λ that of Kamthan (1976).

1. INTRODUCTION

Γ , the space of entire sequences introduced by Ganapathy Iyer (1948) and its dual Γ^ω become particular cases respectively of $c_0(p)$ and $l^\infty(p)$, the generalized sequence spaces introduced by Maddox (1967). Kamthan (1976) introduced the sequence space λ . If (λ, μ) denote the set of all matrices $A = (a_{nk})$; $n, k = 1, 2, 3, \dots$, which transforms the sequence space λ into the sequence space μ , Sridhar (1979) obtained necessary and sufficient conditions for $A \in (c_0, \lambda)$. In this paper we obtain conditions to characterize $(c_0(p), \lambda)$ matrices which generalizes the result of Sridhar (1979). Also conditions have been obtained to characterize $(l^\infty(p), \lambda)$, (l^p, λ) and (l, λ) matrices.

In § 2 we deal with definitions and quote some known results as lemmas which will be used in § 3 for establishing conditions to characterize $(c_0(p), \lambda)$, $(l^\infty(p), \lambda)$, (l^p, λ) and (l, λ) matrices.

For unexplained terms in sequence spaces and matrix transformations thereon and for elements on sequence spaces, we refer respectively Kamthan and Gupta (1981) and Köthe (1960).

2. DEFINITIONS AND SOME KNOWN RESULTS

Let ω denote the space of all sequences and e^k the k th unit vector. A subspace λ of ω such that λ contains the space generated by $\{e^k; k \geq 1\}$ is called a sequence space. By λ^ω we mean Köthe-Toeplitz dual of λ . Suppose μ is another sequence space. Denote by $A = (a_{nk})$ an arbitrary matrix transformation from λ to μ , thus if $y = Ax$, then $y = (y_n) \in \mu$ with $y_n = \sum_{k \geq 1} a_{nk} x_k$, $\forall x = (x_k)$ in λ .

If $p = (p_k)$ is a sequence where p_k is real such that $p_k > 0$ and $\sup_k p_k < \infty$, we define

$$c_0(p) = \{x = (x_k) : |x_k|^{p_k} \rightarrow 0 \text{ as } k \rightarrow \infty\}$$

$$l^\infty(p) = \{x = (x_k) : \sup_k |x_k|^{p_k} < \infty\}$$

$$l^p = \{x = (x_k) : \sum_{k \geq 1} |x_k|^p < \infty; p > 1\}$$

$$l = \{x = (x_k) : \sum_{k \geq 1} |x_k| < \infty\}$$

$$\chi = \{x = (x_k) : (k! |x_k|)^{1/k} \rightarrow 0 \text{ as } k \rightarrow \infty\}$$

$$\Gamma = \{x = (x_k) : |x_k|^{1/k} \rightarrow 0 \text{ as } k \rightarrow \infty\}$$

$$\Gamma^x = \{x = (x_k) : \sup_k |x_k|^{1/k} < \infty\}$$

$$c_0 = \{x = (x_k) : (x_k) \text{ is null}\}$$

$$l^\infty = \{x = (x_k) : (x_k) \text{ is bounded}\}.$$

Remark: χ can be regarded as the collection of all entire functions $f(z) = \sum_{k \geq 1} x_k z^k$

of exponential order 1 and type 0.

Now we quote some known results as the following Lemmas :

Lemma A (Maddox 1969) — $c_0^x(p) = \bigcup_{M > 1} \{(a_k) : \sum_{k \geq 1} |a_k| M^{-1/p_k} < \infty\}$.

Lemma B (Lascarides and Maddox 1970) —

$$(l^\infty(p))^x = \bigcap_{M=2}^\infty \{(a_k) : \sum_{k \geq 1} |a_k| M^{1/p_k} < \infty\}.$$

Lemma C (Cooke 1955) — $l^x = l^\infty$.

Lemma D (Cooke 1955) — $(l^p)^x = l^q$ where $p > 1$ and $p^{-1} + q^{-1} = 1$.

3. MAIN RESULTS

Theorem 1 — $A \in (c_0(p), \chi)$ if and only if, for some integer $M > 1$,

$$(n! \sum_{k \geq 1} |a_{nk}| M^{-1/p_k})^{1/n} \rightarrow 0 \text{ as } n \rightarrow \infty \tag{1}$$

PROOF: *Sufficiency* — Since $(x_k) \in c_0(p)$, there exists an $M > 1$ such that

$$|x_k| \leq M^{-1/p_k}$$

for all k . Let (1) hold, then for a given $\epsilon > 0$, there exists a n_0 such that

$$(n! \sum_{k \geq 1} |a_{nk}| M^{-1/p_k})^{1/n} < \epsilon \text{ for } n \geq n_0 \tag{2}$$

Now

$$\begin{aligned} (n! |y_n|)^{1/n} &\leq (n! \sum_{k \geq 1} |a_{nk}| |x_k|)^{1/n} \leq (n! \sum_{k \geq 1} |a_{nk}| M^{-1/p_k})^{1/n} \\ &< \epsilon \text{ for } n \geq n_0 \text{ using (2)} \end{aligned}$$

Hence $(y_n) \in \mathcal{X}$.

Necessity — If (1) does not hold, there exists subsequences of (n) such that

$$(n! \sum_{k \geq 1} |a_{nk}| M^{-1/p_k})^{1/n} > \epsilon \text{ when } n \rightarrow \infty. \quad \dots(3)$$

Since the matrix (a_{nk}) is applicable to each member of $c_0(p)$, $(a_{nk}) \in c_0^*(p)$ so that by Lemma A,

$$\sum_{k \geq 1} |a_{nk}| M^{-1/p_k} < \infty \text{ for } M > 1. \quad \dots(4)$$

Since $x = e^k \in c_0(p)$, $(y_n) = (a_{nk}) \in \mathcal{X}$ so that $(n! |a_{nk}|)^{1/n} \rightarrow 0$ as $n \rightarrow \infty$ for each fixed k . Hence

$$(n! |a_{nk}|)^{1/n} \leq A_k \text{ for all } n \text{ and for each fixed } k. \quad \dots(5)$$

Now we shall construct a sequence $(x_k) \in c_0(p)$ and show that the corresponding $(y_n) \notin \mathcal{X}$ using (3), (4) and (5).

Then that will suffice to prove that the condition is necessary.

By (3), we can choose $n = n_1$ and $k = q_1$ such that

$$(n_1! \sum_{k=1}^{q_1} |a_{n_1 k}| (M+1)^{-1/p_k})^{1/n_1} > 1. \quad \dots(6)$$

Having fixed n_1 , by (4) choose $k = k_1 > q_1$ such that

$$(n_1! \sum_{k=k_1+1}^{\infty} |a_{n_1 k}| (M+1)^{-1/p_k})^{1/n_1} < \epsilon. \quad \dots(7)$$

Taking for all n ,

$$\left. \begin{aligned} x_k &= \operatorname{sgn}(a_{n_1 k}) (M+1)^{-1/p_k} \text{ for } 1 \leq k \leq k_1 \\ &= \operatorname{sgn}(a_{n_1 k}) (M+i)^{-1/p_k} \text{ for } k_{i-1} < k \leq k_i; i = 2, 3, \dots \end{aligned} \right\} \quad \dots(8)$$

so that $(x_k) \in c_0(p)$ and

$$(M+i)^{-1/p_k} \leq (M+i-1)^{-1/p_k} \quad \dots(9)$$

we have

$$\begin{aligned}
 (n_1! | y_{n_1} |)^{1/n_1} &\geq \left(n_1! \left| \sum_{k=1}^{k_1} a_{n_1 k} x_k \right| \right)^{1/n_1} \\
 &\quad - \left(n_1! \left| \sum_{k=k_1+1}^{\infty} a_{n_1 k} x_k \right| \right)^{1/n_1} \\
 &\geq (n_1! \sum_{k=1}^{k_1} | a_{n_1 k} | (M + 1)^{-1/p_k})^{1/n_1} \\
 &\quad - \left(n_1! \sum_{k=k_1+1}^{\infty} | a_{n_1 k} | (M + 2)^{-1/p_k} \right)^{1/n_1} \\
 &\hspace{15em} \text{[using (8)]} \\
 &> 1 - \epsilon \text{ [using (6), (9) and (7)].}
 \end{aligned}$$

From (9) and (5) we have for all n ,

$$\begin{aligned}
 \left(n! \sum_{k=1}^{k_i} | a_{nk} | (M + i)^{-1/p_k} \right)^{1/n} &\leq \left(n! \sum_{k=1}^{k_i} | a_{nk} | M^{-1/p_k} \right)^{1/n} \\
 &\leq C_{k_i} \text{ where } C_{k_i} = \sum_{k=1}^{k_i} A_k. \dots(10)
 \end{aligned}$$

By (3) choose $n = n_2 > n_1$ and $q_2 > k_1$ such that

$$\left(n_2! \sum_{k=k_1+1}^{q_2} | a_{n_2 k} | (M + 2)^{-1/p_k} \right)^{1/n_2} > 2 + C_{k_1}. \dots(11)$$

Having fixed n_2 , by (4) choose $k = k_2 > q_2$ such that

$$\left(n_2! \sum_{k=k_2+1}^{\infty} | a_{n_2 k} | (M + 2)^{-1/p_k} \right)^{1/n_2} < \epsilon. \dots(12)$$

Hence

$$\begin{aligned}
 (n_2! | y_{n_2} |)^{1/n_2} &\leq \left(n_2! \left| \sum_{k=k_1+1}^{k_2} a_{n_2 k} x_k \right| \right)^{1/n_2} - \left(n_2! \left| \sum_{k=1}^{k_1} a_{n_2 k} x_k \right| \right)^{1/n_2} \\
 &\quad - \left(n_2! \left| \sum_{k=k_2+1}^{\infty} a_{n_2 k} x_k \right| \right)^{1/n_2}
 \end{aligned}$$

(equation continued on p. 1110)

$$\begin{aligned}
 &\geq \left(n_2! \sum_{k=k_1+1}^{k_2} |a_{n_2 k}| (M+2)^{-1/p_k} \right)^{1/n_2} \\
 &\quad - \left(n_2! \sum_{k=1}^{k_1} |a_{n_2 k}| (M+1)^{-1/p_k} \right)^{1/n_2} \\
 &\quad - \left(n_2! \sum_{k=k_2+1}^{\infty} |a_{n_2 k}| (M+3)^{-1/p_k} \right)^{1/n_2} \text{ [using (8)]} \\
 &> 2 - \epsilon \text{ [using (11), (10), (9) and (12)].}
 \end{aligned}$$

Proceeding like this, by (3) we can choose $n_i > n_{i-1}$ and $q_i > k_{i-1}$ such that

$$\left(n_i! \sum_{k=k_{i-1}+1}^{k_i} |a_{n_i k}| (M+i)^{-1/p_k} \right)^{1/n_i} > i + C_{k_{i-1}}.$$

Having fixed n_i , by (4) choose $k_i > q_i$ such that

$$\left(n_i! \sum_{k=k_i+1}^{\infty} |a_{n_i k}| (M+i)^{-1/p_k} \right)^{1/n_i} < \epsilon.$$

As above using (8), (10) and (9) we can show that $(n_i! |y_{n_i}|)^{1/n_i} > i - \epsilon$. Since ϵ is arbitrary $(n_i! |y_{n_i}|)^{1/n_i} \rightarrow \infty$ as $i \rightarrow \infty$. Hence $(y_n) \notin \mathcal{X}$ so that condition (1) is necessary.

Corollary 1 (Sridhar 1979) — $p_k = 1$ gives $A \in (c_0, \mathcal{X})$ if and only if

$$(n! \sum_{k \geq 1} |a_{nk}|)^{1/n} \rightarrow 0 \text{ as } n \rightarrow \infty.$$

Corollary 2 — $p_k = 1/k$ gives $A \in (\Gamma, \mathcal{X})$ if and only if

$$(n! \sum_{k \geq 1} |a_{nk}| M^{-k})^{1/n} \rightarrow 0 \text{ as } n \rightarrow \infty \text{ for some integer } M > 1.$$

In a similar manner by taking for all n , $(x_k) \in I^\infty(p)$ as $x_k = \text{sgn}(a_{nk}) M^{1/p_k}$ for $1 \leq k \leq k_i$; $i = 1, 2, 3, \dots$ and using Lemma B, we can prove the following:

Theorem 2 — $A \in (I^\infty(p), \mathcal{X})$ if and only if

$$(n! \sum_{k \geq 1} |a_{nk}| M^{1/p_k})^{1/n} \rightarrow 0 \text{ as } n \rightarrow \infty \text{ for every integer } M > 1.$$

Corollary 3 — $p_k = 1$ gives $A \in (I^\infty, \mathcal{X})$ if and only if

$$(n! \sum_{k \geq 1} |a_{nk}|)^{1/n} \rightarrow 0 \text{ as } n \rightarrow \infty.$$

Corollary 4 — $p_k = 1/k$ gives $A \in (\Gamma^\alpha, \chi)$ if and only if

$$(n! \sum_{k \geq 1} |a_{nk}| M^k)^{1/n} \rightarrow 0 \text{ as } n \rightarrow \infty \text{ for every integer } M > 1.$$

Similarly using Lemma D and taking for all n , $(x_k) \in l^p$ as

$$x_k = |a_{nk}|^{q-1} \text{sgn}(a_{nk}) \text{ for } 1 \leq k \leq k_i: (i = 1, 2, 3, \dots) \text{ we can prove:}$$

Theorem 3 — $A \in (l^p, \chi)$ if and only if

$$(n! \sum_{k \geq 1} |a_{nk}|^q)^{1/n} \rightarrow 0 \text{ uniformly in } k \text{ as } n \rightarrow \infty$$

where $p > 1$ and $p^{-1} + q^{-1} = 1$.

Theorem 4 — $A \in (l, \chi)$ if and only if

$$(n! |a_{nk}|)^{1/n} \rightarrow 0 \text{ uniformly in } k \text{ as } n \rightarrow \infty. \tag{13}$$

PROOF : Sufficiency — Since $(x_k) \in l$, $\sum_{k \geq 1} |x_k|$ is convergent converging to L

(say). Let (13) holds, then given $\epsilon > 0$, there exists a $n_0 \geq 1$ such that

$$(n! |a_{nk}|)^{1/n} < \epsilon/L \text{ for } n \geq n_0. \tag{14}$$

Then

$$(n! |y_n|)^{1/n} \leq (n! \sum_{k \geq 1} |a_{nk}| |x_k|)^{1/n} < \frac{\epsilon}{L} \cdot L^{1/n} \text{ for } n \geq n_0$$

$$< \epsilon. \tag{using ... (14)}$$

Hence $(y_n) \in \chi$.

Necessity — If (13) does not hold, there exists subsequences (n_p) and (k_p) such that

$$(n_p! |a_{n_p k_p}|)^{1/n_p} > \epsilon \text{ as } p \rightarrow \infty. \tag{15}$$

Since the matrix (a_{nk}) is applicable to each member of l , $(a_{nk}) \in l^x = l^\infty$ (using Lemma C). Hence $|a_{nk}| \leq A'_n$ for all k and for each n so that

$$n! |a_{nk}| \leq A_n \text{ where } A_n = n! A'_n \text{ for all } k \text{ and for each } n. \tag{16}$$

Since $x = e^k \in l$, $(y_n) = (a_{nk}) \in \chi$ so that $(n! |a_{nk}|)^{1/n} \rightarrow 0$ as $n \rightarrow \infty$ for each k . Hence

$$(n! |a_{nk}|)^{1/n} \leq B_k \text{ for all } n \text{ and for each } k. \tag{17}$$

In (16) and (17) the sequences (A_n) and (B_k) are unbounded as seen below.

If (A_n) is not unbounded, there exists a M such that $(n! | a_{nk} |)^{1/n} \leq A_n \leq M$ which contradicts our assumption (15). Hence the sequence (A_n) and similarly the sequence (B_k) are unbounded.

Choose $n = n_1$ and $k = k_1$ so that

$$(n_1! | a_{n_1 k_1} |)^{1/n_1} > 2; A_{n_1} > 1 \text{ and } (n! | a_{nk} |)^{1/n} \leq B_{k_1} \text{ for all } n. \dots(18)$$

Then choose $n_2 > n_1$ and $k_2 > k_1$ such that

$$\left(\frac{n_2! | a_{n_2 k_2} | }{2A_{n_1}} \right)^{1/n_2} > 3 + B_{k_1}; A_{n_1} \leq A_{n_2}; (n! | a_{nk} |)^{1/n} \leq B_{k_2} \text{ for all } n. \dots(19)$$

Proceeding in this manner, let us suppose that n_{p-1} and k_{p-1} have been already chosen. Then we can find a $n_p > n_{p-1}$ and $k_p > k_{p-1}$ such that

$$\left. \begin{aligned} \left(\frac{n_p! | a_{n_p k_p} | }{2^{p-1} A_{n_{p-1}}} \right)^{1/n_p} &> (p + 1) + \sum_{i=2}^p \frac{B_{k_{i-1}}}{(2^{i-2} A_{n_{i-2}})^{1/n_i}} \\ A_{n_{p-1}} &\leq A_{n_p}; \text{ and } (n! | a_{nk} |)^{1/n} \leq B_{k_p} \text{ for all } n \end{aligned} \right\} \dots(20)$$

$$\text{From the above } 1 < A_{n_1} \leq A_{n_2} \leq \dots \leq A_{n_p} \leq \dots \dots(21)$$

With the help of the above, we shall construct a sequence $(x_k) \in I$ such that (y_n) has a subsequence for which $(n! | y_n |)^{1/n}$ is unbounded so that $(y_n) \notin \lambda$.

Taking

$$x_{k_p} = \frac{\text{sgn}(a_{n_p k_p})}{2^{p-1} A_{n_{p-1}}} \text{ for } p = 1, 2, 3, \dots \left. \dots(22) \right\}$$

and $x_k = 0$ for $k \neq k_1, k_2, \dots, k_p, \dots$

so that $(x_k) \in I$.

$$\begin{aligned} (n_1! | y_{n_1} |)^{1/n_1} &= (n_1! | \sum_{j>1} a_{n_1 k_j} x_{k_j} |)^{1/n_1} \\ &\geq (n_1! | a_{n_1 k_1} x_{k_1} |)^{1/n_1} - [n_1! | a_{n_1 k_2} x_{k_2} | + n_1! | a_{n_1 k_3} x_{k_3} + \dots]^{1/n_1} \\ &\geq (n_1! | a_{n_1 k_1} |)^{1/n_1} - \left(\frac{n_1! | a_{n_1 k_2} | }{2A_{n_1}} + \frac{n_1! | a_{n_1 k_3} | }{2^2 A_{n_2}} + \dots \right)^{1/n_1} \\ &> 2 - \frac{1}{2} \left[1 + \frac{1}{2} + \frac{1}{2^2} + \dots \right] \text{ [using (18), (16) and (21)]} \\ &> 1 \end{aligned}$$

$$\begin{aligned}
 (n_2! | y_{n_2} |)^{1/n_2} &\geq (n_2! | a_{n_2 k_2} x_{k_2} |)^{1/n_2} - (n_2! | a_{n_2 k_1} x_{k_1} |)^{1/n_2} \\
 &\quad - [n_2! | a_{n_2 k_3} x_{k_3} | + n_2! | a_{n_2 k_4} x_{k_4} | + \dots]^{1/n_2} \\
 &\geq \left(\frac{n_2! | a_{n_2 k_2} |}{2A_{n_1}} \right)^{1/n_2} - (n_2! | a_{n_2 k_1} |)^{1/n_2} \\
 &\quad - \left[\frac{n_2! | a_{n_2 k_3} |}{2^2 A_{n_2}} + \frac{n_2! | a_{n_2 k_4} |}{2^3 A_{n_3}} + \dots \right]^{1/n_2} \\
 &> 3 - \frac{1}{2^2} \left[1 + \frac{1}{2} + \frac{1}{2^2} + \dots \right] \quad [\text{using (19), (18), (16) and (21)}] \\
 &> 2.
 \end{aligned}$$

Proceeding in the same manner, we can find a n_p such that $(n_p! | y_{n_p} |)^{1/n_p} > p$ so that $(n! | y_n |)^{1/n} \rightarrow \infty$ through a subsequence of values of (n) . Hence $(y_n) \notin \lambda$ so that condition (13) is necessary.

ACKNOWLEDGEMENT

The author is grateful to Dr D. Somasundaram for his suggestions and guidance in the preparation of this paper. The author is thankful to the referee for his useful suggestions and to the authorities of Jamal Mohamed College, Tiruchirapalli and the University Grants Commission for the award of fellowship under F.I.P. of the U.G.C.

REFERENCES

Cooke, R. G. (1955). *Infinite Matrices and sequence spaces*. Dover Publs., New York, p. 276.
 Ganapathy Iyer, V. (1948). On the spaces of integral functions—I. *J. Indian Math. Soc.* (2), **12**, 13-30.
 Kamthan, P. K. (1976). Bases in a certain class of Frechet space. *Tamkang J. Math.*, **7**, 41-49.
 Kamthan, P. K., and Gupta, Manjul (1981). *Sequence Spaces and Series*, Lecture Notes No. 65. Marcel Dekkar, Inc., New York-Basel.
 Köthe, G. (1960). *Topological Vector Spaces I*. Springer-Verlag, Berlin-Heidelberg.
 Lascarides, C. G., and Maddox, I. J. (1970). Matrix transformation between some classes of sequences. *Proc. Camb. phil. Soc.*, **68**, 99-104.
 Maddox, I. J. (1967). Spaces of strongly summable sequences. *Q. JI Math. (Oxford)* (2), **18**, 345-55.
 ——— (1969). Continuous and Köthe-Toeplitz duals of certain sequence spaces. *Proc. Camb. phil. Soc.*, **65**, 431-35.
 Sridhar, S. (1979). A matrix transformation between some sequence spaces. *Acta Ciencia Indica*, **5**, 194-97.